Calculation After Loss

(Progoressive)

Round 2 Lot Size (L2)
L2 =S + (Multiplier * Step)

Example (S=0.02, Step=0.01)
RR 1:2 -> L2 = 0.02 + (1 x

0.01) = 0.03

RR 1:3 -> L2 = 0.02 + (2 x
0.01) = 0.04

RR 1:4 -> L2 = 0.02 + (3 x
0.01) = 0.05

Round =2 Lot Size (L3)
L3 = L2 + (Multiplier * Step)

Example (S=0.02, Step=0.01)
RR 1:2 -> L2 = 0.03 + (1 x
0.01) = 0.04
RR 1:2 -> L2 = 0.04 + (2 x
0.01) = 0.06
RR 1:4 -> L2 = 0.05 + (3 x
0.01) = 0.08

Round 4 Lot Size (L4)
L4 = L3 + (Multiplier * Step)

Example (S=0.02, Step=0.01)
RR 1:2 -> L2 = 0.04 + (1 x
0.01) = 0.05
RR 1:3 -= LL.2Z = 0.06 + (2 x
0.01) = 0.08
RR 1:4 -> L2 0.08 + (3 x
0.01) = 0.11

Round 1
Starting Lot Size: S
e.g., S=0.02
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Explanation of the Lot Sizing Trading Rule

This document outlines a progressive lot sizing strategy for trading.
English Explanation

1. Core Principle

This strategy adjusts the trade lot size based on the outcome of the previous trade. The
primary goalis to recover from a loss with the next winning trade while maintaining a
structured approach to risk.

2. The Rules

e Starting the Cycle (Round 1): Every new trading cycle begins with a fixed "Starting
Lot Size". For this example, we use 0.02 lots.

e After a Winning Trade: If a trade is won, the cycle is considered complete and
successful. The strategy resets, and the very next trade returns to the original
"Starting Lot Size" (e.g., 0.02 lots).

e After aLosing Trade: If a trade is lost, the lot size for the immediate next trade is
increased progressively. The size of this increase is determined by the Risk-to-
Reward (RR) ratio of the trading setup.

3. How to Calculate the Lot Size Increase
The formula to calculate the new lot size after a loss is:

New Lot Size = Previous Round's Lot Size + (Multiplier x Minimum Step)

e Minimum Step: This is the smallestincrement you will add. For this example, the
Minimum Step is 0.01 lots.
e Multiplier: This value is linked to your Risk-to-Reward ratio. It scales the increase
based on the potential profit of the trade.
e Fora1:2 RRtrade, the multiplier is 1x.
e Fora1:3 RRtrade, the multiplier is 2x.
e Fora1:4 RRtrade, the multiplier is 3x.

4. Example Walkthrough (Using a 1:3 RR setup)
Let's assume the Starting Lot Size is 0.02, the Minimum Step is 0.01, and our setup has a
1:3 RR (Multiplier = 2x).

¢ Round 1: Wetrade 0.02 lots and have a LOSS.



e Round 2: We increase the size. New Lot=0.02+ (2 x 0.01) = 0.04 lots. We trade this
and have another LOSS.

e Round 3: Weincrease again from the last size. New Lot=0.04 + (2 x 0.01) = 0.06
lots. We trade this and have a WIN.

e Round 4: Since Round 3 was a win, the strategy resets. We go back to the Starting
Lot Size of 0.02 lots.

5. Important Risk Disclaimer

This method is a variation of a progressive betting system (similarto a Martingale strategy).
While it aims to recover losses, it carries significant risk. A prolonged losing streak will
lead to increasingly large trade sizes, which can cause a rapid and substantial drawdown
of your trading capital. This strategy should only be used with a deep understanding of its
risks and with strict risk management protocols in place.
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